( UWPJDW 26 P I‘Hﬂo,ﬂ

N\Ol\lg MW\)%T 'tJ\Q:Dr())HL QSS?/Ttbr\s /WQ 'l'}LQ fOfM:

Sih ok (il o stakenest i trwe for |
oury  rafwroh mbr 1. {

Here Qre SO QXM\,PIQS N

DN 2
C e 3 L 24 SN AN
142 43+-+ 1 =
’ ! 6 for

oy NE N
) EW’& WWWX ’W&W\L’?/Y n s @;IWN{

o O Sum @1[ ok st fowr squares

1T we wonk ook these sbitemedts for
by Pwrt\cw ikeqen +thas 1 easy



For Q»CWAP[L?
s Pasaded = 1rdt b = 2o

TS R B p
6 ) { = 4

— -é :‘30

, 2o 2
\/ 4—: 1 + 1 +1 + 1
Howwyr) thas 1 wt A FWU]( s we Wk
Lo chow the Stakemerdt s T for

al\ MW Mmb‘?}fs,

P@Mﬂrl{ In o Lﬁiﬂf (2s=4
howd Simg_ yw\/\czg(y)

o wa}e s'arwkj/\fwg s
b et Dol the (ases

JVb DYKSFWVQ S“DML\;"H' 18 Qﬁsxa) s‘wug ymA m\l/;



}'\del Py show It s fw’&a ’f'oY op W
Thoetore ,  we reed T sjcwbg

the mjc}'wot e]t M

Hore wre, O oM ratheds we wall nse
1y oo bg v\é% oﬂa{%wctm.

Q) ]mo]( 1»3 ow\ﬂao!/;c’ctm/\.

3) Lol chion.

Ta koobw()ls closs, we wll KW\)/‘& e
A ction W}’\n&







EXOW?L(L& U induction Show
3
, o anknty . du N

1l‘fll+ ~ N = 0
Proof:  We write: ™ ol M
2!\3+3Vl +
2) d X Y\l\ - !
P(“) l 1 +) *° = 4.

S‘\ﬁ’/\? 1: Show E(i) s true
Ste? T1: oassune tob  pln) s truQ

S how E(Hi) YRS

gtf? 1 < P(i) 11 = 1
a0+l J/
;- Tt
Sw‘) T: Asswa Pm Is te, % s

) 3 B R 3.{\3+ Sn)’l"'\
T4 2 N1 A

N

[




/ 2 2 a0 ) 2 30nt) ()
Q)(r\m) : /f*\\ N+ () = 2 *)
N
f+\~ r\lJr (V\'\'\)’
by Trduidio 3 2 2
J ! Y
' an +zV\ +1 + ()
3 g2 .
= ?HP’Q ML mrant]
~ S 3NN fn4 204 4
b
S+ gnt+ 130 t+4
T 6

1(n+\)3 . () + () S(IE3nTIM) & (e )+ ()

C b
s Bt e/
= 5

e










